C.E/H=2d=

Time limit 2s

Memory limit 512 MB

Mgy
xFH2ELe] HY 2 SO0ISH0lE N 7K 5017|177t QU6 0SE| N — 17hK] #57} oj74H 9ick ol & HES N — 1740l &
42 S22 Al A0, OfFl £ 50PI7E B2IS o £8 A= KU J27} ENECL ol £ 078 N 2 o

S7H O STk M Z2E 01717 A[i]2} 501717 B[i]2 21Z5tD ZojA 0|3t 8 Alzto] Z2Ict. BES 97| 9i3)

M, B =017|7= Z(ch 37H2| ==ef AL ALY,

oII

2 H Y E25t= A= (tour)E TS24 BITf. 8 S0[7|F0M THE =0|7|R2 ol wf 03 =22
ALt7bs A2 XSS E72 ':.'_%31'.3_4, 2= =017]70fl thaiM =AM 2AIE FallM, Thg =017|71E YESt=H 2R
oF AIZHO| 21 =0[7| & YEst=0l 2ot AZHECt ZX| &7 5t £/Ch CHE 22 5HH, 0FE| N — 17K 2= 7t 3
gt ot HM L= &8 P[0], P[1], ..., P[N — 1]& #2283 st=0|, ZE 0 <i <N — 10| thaiM =0|7|7 P[i]0IM =
0|7|7 P[i + 1]2 O|Ssh=0l Zel= AlZto] =017 P[i — 1]0IIM =0|7|7 P[i]2 O|Ssh=0| Zel= AlZHECH ZX] §4Ct

£ =07|7E &5t st
o

Y2 =017] 7o FA X=E 7HX|11 AKX| BTt WekM, E42 =S 2t=2{H AL HE o 225 01219 3{oF 3t Z|Ti O
HERY 4+ AW, 24Zfo| E2 F uf2t0|E Xt Y 2 O|R0X|EH, 0 <X, Y < NOIC. 2t 222 tg = & SHHO|LH.

o =0[7|7 X0|M =0|7|7 Y 2 O| S5t # Al Za
o S0[7|7 X2 =017|7 Y7 FO{AME W, LS =US BHEst= l=7t? i0I7I?l X0l 017|172 Z
2 0|SstH{™ =0[7|7 Y E BIEA| BHE3H0 £0[7|7 Y = Z&EICL E35| X = Y ml, §2 NOJCt.

r\l

-r
o)
o
M

-

ol
=

et

i

+ei3lof

ok
1

.

e createFunTour(N, Q) - O| &= J20|0| 2|sfA HetstHA| st SEEICE
o N: =072 25 LiEHl= H
o O:EZ9| z(0f SI+E LIEH = H=.
o Ol gtrELCE & 220 eErE S
e hoursRequired(X, Y)
o X: AW 50|75 H35H=s F=.
o V58 507|72E E§5f= B
o O] &= 01717 X0IM =
o OIFX,Y ZOL5HLE EE =

ral
ol

Ct2 createFunTour &4

Y 2 O|Ss5t=H| 23t AlZts 2|E
F7H00let N — 1 ofstel H=7

i
LET
°

e attractionsBehind(X, Y)
=

o X: AN =0|7|7E H3i5H=s F=.

o Y:EHW 5017|718 HBISh= F4

o O] & Oz ZUS UESH= =077 Z2| 78 2|'st=0|, =017|7 X0lM =0]7|7 Z= 0| S5t H
=0[7|7 Y E BIEA| 2hZsf{of STt

o WAFX,Y B OS5I E=E = 25710 018 N — 1 0[5tQ! F4=7t OfL[2HH, WAS #H=Ct.

Of| %l

CHE oo, N =7, O = 400000, A =[0,0,0,1,1,2], B=[1,5,6,2,4,3]0[ct. O] Of|H|= CtE Oz HH
AL,

w2

A
e



J20|E= createFunTour(7, 400000) = S&SICL.

[ ]
|'I:I
(o)
T

[ ]
a
19 10 |

02{&20| hoursRequired(3, 5) & Z2|ol™, 2|Egf2 40]|Ct,
02{20| hoursRequired(5, 4) 2 Z2|ol™, 2|EIgf2 30|Ct,
0O

[ ]
ra
T

7|17 12 BHEA| X|Lt7tOF ST},

toF 0{2{20| attractionsBehind(1, 5) 2 ZQ|5tHM, 2|EIZIS 10]|C}

o OJ{E29| 7Hs6t 2EZt L= [3, 6,4, 5,2, 0, 11200, CH2 =0|7| 2 YE25H=H = Qs
[4,3,3,3,2, 1]017] m2o|ct.

DmH’
o

r
192 o

Mo =7
« 2 <N <100000.
- Q= 400000.
. OfHl & =0|7| 2% 22 S5iM 0|SE 4 UCk
o 2H50[7| s H{oh 37He| E2et IZE|f UCh (X, Z|0H 370 =22 BHo|Ct)

Subtask 1 (10 points)
e« N<17.

Subtask 2 (16 points)
e N <500.

Subtask 3 (21 points)
« BE 1 <i<NOCHHM 5017|172 iet =0|7|17 | 5L | 2 dEste =27t ULk

Subtask 4 (19 points)

e BE0<i<NO CH3HM hoursRequired(T, i) < 30E DtHFsHM CtS TS DHEsH=E 27t

L[i] <i < R[i] <N)O| EXl5t= =0|=+ T7t | A% StLt EXHSIT
o =0[7|7 TOlM =0[7|7 j2 0|S3I2{H =0[7[F ;& Y=
=g
o QEOFL[i] < iOI2tH, Chg =UE BHESh= =017|+ X7t YEHS| St EXHSIT
o L[i]<X <.
o 5017|172t =017|17 XE

I'R
.I.L
=

= E271 QlCh

o 2tefi < R[i]O|2HH, Lt =S HHFSh= =0[7|7F Y 7+ Y&3| StLt ZXHBITt.

12{=0| attractionsBehind(5, 1) £ Z2|sl™, 2|EHZf2 40|Ct, =0|7|7 50|A =0|7|7L 1, 2, 3, 42 7}2{™



« i<Y <R[

o S0|7|7 9 50/7|7 Y & HZst= T2t Tt
Subtask 5 (34 points)
o FIMHQIH|eF R740| giCt,
ME Jzjo|H
ME T20|HE Y=g O YAISR 9l=rt.
N Q
Alo] BIlo]
Al1] BI[1]
A[N-2] BIN-21]
Z J2f0|5& 2 createFunTour &7t EHR HEE BHSHE N7HQ| B0l £2Hs XEtst g S FEks| Aot
&t~o| S& 5l 30| QO|510|H O] i S E2Strt. JEX| PoH, QE O

AH
a
11, hoursRequired , attractionsBehind &

NP



